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EcormO=o0,,0,, ..., 0 — 3ByKOBas NocnenoBaTensLHOCTb,
W=w,,Ww,, ..., W —NnocregosartefibHoCTb CoB, TO

W =argmax P(W|O)
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2. CkpbiTble Mapkosckue mogenu (CMM, HMM)
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3. MapkoBckoe gonyuieHue:

P(s,|s{ ") = P(s,|s, ;)

4. [lonywieHne He3aBUCUMOCTU BbIXOLHbIX 3HAYEHUNM:

POX,| X7 sD)=P(X, |s,)



1. OueHka: ecnu aadbl mogenb @ 1 nocnegoBaTenbHOCTbL HAbNaeHUN X,
KakoBa BEPOATHOCTL P(X|®P)? — arreopumm ripsmoz2o xooa

2. Pacno3HaBaHue: ecnun gaHbl mogenb @ 1 nocnenoBaTernbHOCTb
HabniogeHnn X, kakoBa Hanbonee BepodATHadA nocrnenoBaTenibHOCTb COCTOAHUMN
S, nopoauswas HabnogeHna? — aneopumm Bumepbu

3. ObyueHune: ecnu gaHbl Mogenb @ 1 HECKOSbKO nocrnegoBaTefibHOCTEN
HabnoaeHnn X, Kak U3SMEeHUTb NapameTpbl MOAENW, YTOObI MakCMMM3NPOBaTb
BEpOsATHOCTb P(X|®)? — aneopumm bayma-Yanwa



a,(i)=P(x,.x,...X,.q, =5, | ).

THEDHAaTH3AHA:
() =7,B,(x), 1<i< N,

HHIYKIHA:
N
a,4(j) =[Za,(i)ai,j}3j(xm). Lpre T )< j< N,

i=1

3aBEPIICHHE!

P(X|2) = X o ).



ALGORITHM 8.3 THE VITERBI ALGORITHM
Step 1: Initialization

V.(i)=nb(X)) 1<i<N

B(i)=0

Step 2: Induction

V()= Max[ Via@Da, |b,(X,)  2<t<T; 1<j<N

1<isN

B:(j)zArgmax[V:-l(i)aﬁ] ey 1S JsiN

1<isN

Step 3: Termination
The best score = 57, [V.(1)]

1<isN

Sy = Arg max|B; ()]

1<isN
Step 4: Backtracking
5 =B 6 t=ST-0LT =250

S =(s.5,.....57) is the best sequence

(8.26)

(8.25)




ALGORITHM 8.4 THE FORWARD-BACKWARD ALGORITHM

Step 1: Initialization: Choose an initial estimate & .

Step 2: E-step: Compute auxiliary function O(®. ®) based on & .

Step 3: M-step: Compute ) according to the re-estimation Eqs. (8.40) and (8.41) to
maximize the auxiliary Q-function.

Step 4: Iteration: Set® = @, repeat from step 2 until convergence.
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N(z | p%) = exp(— 3 (z — p)'E7 (@ — )
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[[ayccoBcKkmne cmecu (GMM)
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TpeboBaHusa K eguHULIAM:

1. To4HOCTb
2. Oby4aemocTb

3. Ob6obwaemocTb
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I Is left phone a sonorant or nasal?

e

I Is right phone a back—RI Is left phone Is,z,sh,zh/?

I Is right phone vonced"l I I
senone
‘/y/ senone 5 senone 6

Is left phone a back-L or
(is left phone neither a nasal nor a Y

glide and right phone a LAX-vowel)]

Senonei( I senone 3
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\ Convolution layer

feature maps L

other fully
connected
hidden layers
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Share same weights
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Cnacubo 3a BHMMaHue!
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